| 181 Changes in the UK economy

You need to know: Student Book

¢ how the economy of the UK has changed

A post-industrial economy

You need to know: Student Book
See pages 236-7

o what a post-industrial economy is

See pages 234-5

¢ the causes of economic change in the UK. ¢ how the development of information and technology, service industries, finance
Il and research have moved the UK towards a post-industrial economy.
}‘ What is a post-industrial economy
\ How has the economy of the UK changed? _ _ _ o , .
| A post-industrial economy is where manufacturing industry declines and is replaced by
i i 5 : growth in the service and quaternary sectors. This happened in the UK from the 1970s.
i Most people worked During the Industrial Revolution, Jobs in research, information technology
I in farming or mining people made steel, ships or textiles and the media (quaternary sector) have
i i \Taysedtle s endEgling oesoauase i e et Development of information Service industries and finance
technology The UK service sector (including quaternary
. Abig shift to the service The use of information technology (IT) is a key emp]osl/ment) lhas grown rapidly since thle 1970s.
[ Secondary - o Internet access enables people to work from e Finance is an important part of the service sector.
[ Tertiary home. e The UK is the world’s leading centre for
B Quatemary Figure 1 The UK’s changing e Over 1.3 million people work in the IT sector. financial services.
employment structure e The UK is one of the world's leading digital e The financial services sector accounts for
L S———— about 10% of the UK’s GDP.
|
What are the causes of economic change in the UK? Research |
De-industrialisation is the decline traditional Globalisation is the growth and spread of ideas ) ;
industries, such as manufacturing. This has around the world. The UK research sector (part of the quaterary sector) employs over 60000 highly |
: qualified people and is estimated to contribute over £3 billion to the UK economy. '
happened because: , . ;
* Many people now work on global brands in the This sector is likely to be one of the UK economy’s main growth areas in the future.
e machines and technology have replaced many guaternary sector, e.g. in IT. . _ .
people e |ncreased world trade and cheaper imported Business and financial companies BBC
e other countries (e.g. China) can produce cheaper products have contributed to the decline in UK Svei — S—
goods because labour is less expensive. manufacturing. NHS Charities
:_I'f""' R
. . Universities Engmeenng
Government policies TRES
2010 onwards Environment Agency Pharmaceuﬁcal
1945-79 1979-2010 . . ‘Rebalancing’ the economy by —— - o i - .
e The government * State-run industries sold relying less on service industries. Figure 1 Some UK research organisations

to private shareholders.

created state-run Policies have included:

ridiustrios sueh s This is called privatisation. .
» : ». Many older industries »- improvements to transport

e : @) six Seconc Summary
. gf;t\'/z?nﬂnf;ﬁt closed down. (e.g. Hsz)t : British Antarctic Survey ) Six S -
i H ® more Investment In =Y 5
morey poppocupy | |+ Newerhatmcompanis | |+ o e T i At Suoy B4S)employs it Doyt v ecraged s
unprofitable industries. : ‘ ighty:Sisiecs peopie i Lambiege AL, rowth of service and quaternary sectors.
¥ and change. * encouraging global firms to Antarctica and the Arctic. It is linked to the University J

* Finance is an important part of the service
sector.
» Research employs highly qualified people.

locate in UK.

of Cambridge and helps us understand the impact
of humans on the Earth's natural systems.

fes "-’.'7—'.\‘ i3

(@A c:. cocond Summary
Cff) e o e A
¢ The UK economy has changed over time. Make your own glossary of b e ‘ ;
* De-industrialisation is the decline of manufacturing. the key words (in bold and in R'g‘;]'e pe = " Explain Fhree reasons why thg UK is
* Globalisation has increased the quaternary sector. italics) in this section. j FONAEAETERIG developing as a post-industrial economy.
* Government policies have caused economic change. itéitt’ontf”
ntarctica
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UK science and business parks

You need to know:

Student Book

See pages 238-9
* what a science park is

e what a business park is

» how science and business parks are moving the UK towards a post-industrial economy.

What is a science park?

A science park is a group of scientific and technical knowledge-based businesses
located on a single site. Most are associated with universities, enabling them to
use research facilities and employ skilled graduates. Science parks may also
include support services such as financial services and marketing.

University of Southampton Science Park

Southampton Science Park
includes one hundred small
science and innovation businesses
including Fibrecore (manufacturer
of optical fibres) and PhotonStar
(specialising in lighting products).

Benefits

» Excellent transport links — close
to M3, Southampton international
airport and rail links

e Excellent links with the University

» Attractive location with green
areas

Univefsity of
Southampton
Science Park

Figure 1 Southampton Science Park — transport links

Environmental impacts of industry

e what the impacts of industry are on the physical environment
e about an example of how modern industrial development can be
made more environmentally sustainable — Torr Quarry in Somerset.

Impacts of industry on the physical
environment

e Manufacturing plants can look dull and affect the
visual effect of the landscape.

e |ndustrial processes and waste products can cause
air, water and soil pollution.

e The transport of raw materials and manufacturing
products increases levels of air pollution.

How can industrial development
be more sustainable?

e Care in design can reduce the visual impact.

e Technology can be used to reduce harmful
emissions.

e Desulphurisation can remove harmful gases.

e Heavy fines can be imposed when pollution
incidents occur.

Student Book
see pages 240-1

Quarrying in the UK
Impacts of quarrying

® destroy natural habitats
* pollute water courses
* scar landscapes

Making quarrying more sustainable

e There are strict controls on blasting, removal of
dust from roads and landscaping.

* Recycling is encouraged.

* Companies are expected to restore or improve a
guarry after it has been used.

Torr Quarry, Somerset

Torr Quarry is a limestone quarry in the Mendip Hills. It employs
over 100 people and contributes more than £15 million towards the
local economy each year. Torr Quarry is an example of how modern

industrial development can be more environmentally sustainable.

® The guarry is being restored to create wildlife lakes.

e 200 acres of the site have already been landscaped.

e Regular monitoring of noise, vibration, dust and water quality.

® Rail transport of guarried rock minimises the impact on local roads
and villages.

What is a business park?

A business park is an area of land
occupied by a cluster of businesses.
Business parks are usually located on
the edges of towns where:

Cobalt Business Park, Newcastle-upon-Tyne

Cobalt Park is the UK's largest
business park, with support facilities
including retail outlets and a fitness
centre. The park is next to the A19,
close to the A1 and 20 minutes from

Figure 1 Location of Torr Quarry, Somerset

e land is cheaper and more

available the international airport.
e access is better with less 0 S balt Park
congestion Businesses locating in Cobalt Par

Figure 2 Siemens offices

ualify for governmental assistance.
SRy Ig at Cobalt Business Park

e businesses can benefit from

working together. Companies in the park include

Siemens, IBM and Santander.

Figure 3 Planned restoration of Torr Quarry

* Science parks provide benefits such as links with universities and
attractive locations.

¢ Business parks tend to be located on the edges of towns because
land is cheaper, has better access and has potential for expansion.

Cover up everything apart from
Figure 1. Use the map to explain
the benefits of science parks.

* Modern industry can cause pollution and
destroy habitats.

* Torr Quarry aims to be environmentally
sustainable by landscaping and monitoring.

Draw a field sketch of Figure 3 and annotate
it to show how Torr Quarry is environmentally
sustainable.

@ Chapter 18 — The changing UK economy
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growth and also in one of population decline.

Changing rural landscapes in the UK

« what social and economic changes are happening in an area of population

An area of population growth:
South Cambridgeshire

What are the changes?

e The population of 150000 is
increasing, due to migration into
the area.

¢ Most migrants come from
Cambridge and other parts of
the UK: many arrive from Eastern
Europe.

e The proportion of people aged 65 or
over is growing.

Social effects

e 80% car ownership leads to
increased traffic on narrow roads.

e Housing developments on the
edges of villages can lead to &
reduction in community spirit.

e Young people cannot afford the high Camobri
cost of houses and move away.

Economic effects
e A reduction in agricultural employment as

Figure 1 Location of South
dgeshire and the
QOuter Hebrides

Student Book

See pages 242-3

An area of population decline:
the Outer Hebrides

What are the changes?

e The population has declined by
more than 50% since 1901.

e With limited employment, young
people have moved away.

Social effects .

e The expected fall in the number
of children may result in school
closures.

e An increasingly ageing
population has fewer young
people to support them.

Economic effects

e Services are closing.
Most small farms (crofts) can
only provide work for two days
a week.

e There has been an increase in
tourism, but ...

e . the current infrastructure

Changing transport infrastructure (1)

e about improvements and new developments in road and rail infrastructure

in the UK

¢ how those improvements will make a difference.

Student Book
See pages 244-5

Road improvements

The 2014 ‘Road Investment
Strategy’ includes:

e 100 new road schemes
by 2020

e 1300 new lane miles added to
motorways and trunk roads

e extra lanes added to turn
main motorways into ‘smart
motorways’.

New road schemes will create
thousands of construction jobs
and boost local and regional
economies.

South-west ‘super highway’

e A2 bill.ion road-widening project will take place on the A303.
° Cpnvertmg the route to dual carriageway will create a ‘super
highway’ to Plymouth and beyond.

o

- 3 {fA3s8: dual carriageway
7/ between Southfields Bas
: /. : and Taunton \ndove

- Dcama jagewa ]
Dual eway between | | petw J N
Sparkford and llchester | | and Berwick Down,
S with tunnel
‘underneath
Stonehenge

Railway improvements 0 200
T e A |

&

tarmers sell land for housing.
e |ack of affordable housing.

cannot support the scale of
tourism needed to provide an

There are plans to stimulate economic growth in the north of the UK by:

e improving trans-Pennine rail links reducing journey

¢ High demand leads to high petrol prices. alternative source of income.
e Increased population puts pressure on

services.

times by up to 15 minutes.

e HS2 — a planned high-speed rail line to connect
London with Birmingham, Sheffield, Leeds and
Manchester. It is controversial as the route passes
through countryside and close to many homes.

London's Crossrail

Crossrail is a new railway across London that links Reading and

— LGV nord
Heathrow (to the west), to Shenfield and Abbey Wood (to the east). gty

- Ghannel Tunnel (1994)

: ) ; . — High speed 1 (2007)

Age group . Erozsrall (and Crossrail 2) will reduce journey times across — :ign speed'2 (phase 1)
ondon. — High speed 2 (phase 2)

- . ey -_-“- F t
e [t will bring an additional 1.5 million people within 45 minutes’ —
commuting distance of London’s key business districts.

g
Tp]
<

Figure 3 Population structure of the Outer
Hebrides, 2004-14
| —

Figure 2 The landscape of Cambridgeshire Figure 2 Plans for the UK

high-speed rail

e Social changes include increased traffic and
fewer young people to support the elderly.

¢ Economic changes include lack of affordable
housing and reduced employment.

@ Chapter 18 — The changing UK economy

Draw a table comparing the populations of
Cambridgeshire and the Outer Hebrides.

¢ |Improvements include building new rail lines and roads and

adding lanes to motorways.

* These schemes can create jobs, reduce journey times and ease

congestion.

Create a Venn diagram to
show the benefits of road and
rail improvements.

Chapter 18 — The changing UK economy @



Changing transport infrastructure (2) The north-south divide

See pages 248-9

You need to know: Student Book £ | You need to know: S
See pages 2467 A

* what is meant by the north—south divide
* why the north—south divide exists
* strategies used to try to resolve regional differences.

e how new developments will affect the UK’s port and airport capacity
» how these can make a difference in the UK.

Developing the UK's ports Airport developments What is the north-south divide? e —— ”g T | ‘
: ; ; i 45 Merthyr Tydfi 301 !
About 32 million passengers travel through e Airports create vital global links It'refers to real or imagined cultural and economic %‘E é%-'g g;ﬁmﬁm e
UK ports each year. Ports employ around e They provide thousands of jobs differences between the south of England and the rest sl gam 25.7%
: . Hartiepool 25.7%
120000 people. Private companies run many ¢ They also boost economic growth both of the UK. g”‘“" =
[ i Hastings 24.3%
ports and invest heavily in infrastructure, often regionally and nationally. In genersl, theseuth exays Maher hzomess and oriosr SW& T:-;fn 2221:
Wit gEvermEntaRsIStanae. Expanding London’s airports - life expectancy. But the south also has higher house prices 7, @ g 23.0%
i illion i and more traffic congestion. N Ay 22%
 Bristol (Avonmoith) ~£195 m|I.||lo.n Ervastad Tor In 2015, a government report recommended a g @ Piymouth L
It bulk handling and storage facilities.

new third runway at Heathrow. The cost would be Why is there a north-south divide in the UK?
£18.6 billion. The report recommended financial
support for soundproofing homes and schools,
and a ban on night-time flights.

rail terminal at Felixstowe and upgraded ‘ | |
) g\rzﬁsv; service facilities at Harwich. e During the Industrial Revolution, the UK's growth was
centred on coalfields, heavy industries and engineering
in northern England, Wales and Scotland.
Liverpool2 ) This was predicted to create more jobs and

e Since the 1970s, many industries have declined,
make more money for the UK.

A new container terminal is being reducing prosperity in those areas.

constructed at the Port of Liverpool, known People living nearby are concerned about e London and the South East developed rapidly due
as ‘Liverpool2'. the noise and air pollution from planes. t0 a fast-growing service sector. i

= R Souther students more
The project will more than double the port's ﬁka*v;ﬁgm

capacity to over 1.5 million containers
a year. Phase 1 opened in 2016. When
complete the new terminal will:

Figure 1 North and south — some facts

+ Proposed

_ How can regional strategies address the issue?
_+_expansion

¢ create thousands of jobs in the north-west

e boost the regional economy

¢ reduce the amount of freight traffic on
the roads.

Local enterprise Lancashire LEP  Enterprise Zones
partnerships (LEPs)

LEPs are voluntary
partnerships between local

The Lancashire LEP will: ; The aim of Enterprise
' Zones is to encourage

¢ promote new businesses ; :
new businesses and jobs.

and create 50000 new jobs
authorities and businesses. s by 2023 : ) ' The government supports
Their aim is to identify - = improve transport with ;zi'g:zsés L EntiEnE.
Figure 2 Proposed business needs and - £20 million investment y:
expansion of Heathrow encourage companies to ~  extend superfast * providing a business
invest in order to boost the ~ broadband across 97% of rate discount
local economy and create ~ the region ‘ * ensuring the provision of
jobs. ~ * create 6000 high-skilled superfast broadband
The Lancashite LER s bha jobs in Enterprise Zones at * creating simpler
example.

- Samlesbury and Warton. planning regulations.

e Examples of improvements and new developments are Produce a five-sentence * The north—south divide refers to differences Write the worQs ‘north-south divide' and, for
Liverpool2 (a port) and a new runway at Heathrow summary of what you have learnt between thelnorth and sguth of the UK._ each letter, write a word or phrase, relevant to
(an airport). from this page. * |ocal enterprise partnerships anc{ Enterpnse this page’s information, e.g. North-south divide,

e They are intended to create new jobs and boost the economy. Zones are attempts to resolve regional differences. regiOnal strategies, EnteRprise Zones etc.
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